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Find the pH and the degree of ionization for an 0.10 M solution of formic acid: H C H 0 2
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DEGREE OF IONIZATION is the fraction of a weak acid or base that ionizes in water:
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Sometimes, we express this as PERCENT IONIZATION ‘
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Check in experiment 16A: A more dilute solution of acid should have a HIGHER degree
of ionization than a more concentrated one due to Le Chateleir's principle (you're adding
water - a reactant - by diluting). This is true EVEN THOUGH THE pH WILL INCREASE in the
diluted solution!




